2x2 Cluster Energy
Method



Cluster Energy

5x5

Tower Energy

3x3

Isolation Ratio == \ax towerkn /

Isolation Ratio == Max 2x2 En / 4x4 En 3%3 En



E/P = Tower Energy / track P

After GEANT energy correction is
applied to tower Energy!!!!

3x3

0.7974
0.9777
0.1453
0.2474

800(

600(

400(

200(

0

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

isolation ratio

Isolation Ratio == Max towerkEn / 3x3 En



‘E/P = 2x2 cluster energy / track P
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<E/P> with single tower energy and 2x2 cluster energy
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<E/P> with single tower energy and 2x2 cluster energy
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